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QUESTION 1

What does the Outline view provide a hierarchical view of when working with XPages? 

A. all the elements in the current XPage 

B. all the XPages in the current application 

C. all the resources in the current application 

D. all the Custom Controls in the current application 

Correct Answer: A 

Reference: http://www.blug.be/blug.nsf/pages/2012_Slides_a/$file/BLUG-XPages_JumpStart.pdf (slide 16) 

 

QUESTION 2

What information does an IBM Lotus user ID contain? 

A. user name, password, certificates 

B. user name, server name, certificates 

C. internet name, password, certificates 

D. internet name, server name, password 

Correct Answer: A 

 

QUESTION 3

James has been asked to add information from a text file to an IBM Notes database. He has decided to use the tabular
text import because the view and file to be imported do not have the same structure. What will James need to do in
order to complete the task? 

A. James will have to create a custom view. 

B. James will need to edit the text file he was given in order to import the data. 

C. James cannot import this file if it does not have the same structure as the view. 

D. James will need to create a column format file to specify when importing the text file. 

Correct Answer: D 

 

QUESTION 4

Which describes why streaming clustered replication (SCR) performs better than standard cluster replication? 
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A. Notes are opened across the network. 

B. SCR replicates one to one with each cluster mate. 

C. SCR does not do database opens across the network. 

D. Latency time with standard cluster replication is immediate. 

Correct Answer: C 

 

QUESTION 5

Mary Beth and Kathleen work in the same department. From time to time, they need to see what the other one is doing
when they show as \\'busy\\' in their calendar. What minimum level of delegation would Mary Beth need to give Kathleen
so that Kathleen can view calendar entries? 

A. Automatic forwarding 

B. Read, create, edit and delete for Mail 

C. Read access for Calendar, To Do and Contacts 

D. Read access to Mail, Calendar, To Do and Contacts 

Correct Answer: C 
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